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And additionally; since it was taught later — AP ANPTA Loy

OVERVIEW

The X773 asks how can the 71wn begin with 7m17 Wy 0797 7¥°3 (which indicates
that we will be discussing a case where we will implement the punishment of
PARD MWL onr WK 12 anwyY), when in fact in our 73wn we do not implement the
ant WX (but rather we give them another punishment). The X3 continues and
asks (a second question) T3 we learnt in a following miwn that 19X >377 121 0777 1NR
Tam1. *"wA and BN explain this (second) question in different ways.

- 9919 Yoy *5amp XD 919 1895 sya NPT ZoPn W
>'"w9 explained that the X713 is asking (with the 7¥7); why does the 71w» inquire,
‘how the 0°7¥ become 101, ete.’ since the mwn later teaches us precisely the
process how the 0°7v become 17177, ete. (which is not taught in our mwn).

mooIn offers an alternate explanation:
- 5Nyn At UOT 991D R¥NH ORI 9195 TV WD W Ny

And additionally one can explain the question 7 to mean; and if you will say
in answer to the first question that the phrase 72m7 Pwy1 2797 7¥°3 is (merely)

discussing the language to be used in the 7377 process, but it is not coming to teach us
the law of 7117 (that we perform the ant 9w>). The response (of the 73) to that is, that -

INFIID RNPYID 1IN 33NPT 9RD NTH 121 7099 597 999N Nt
This is not so, for perforce our 71wn is teaching us the law of n»17, for the
language of 7n17 is as we learn later in the following 71wn. And the purpose of the

7 is to strengthen the first question that the 71w» should have said Pwy1 2797 PR 723
T

! This moon should precede the P 25 7" MO,
7w ",
? The i Mt amends this to read 1P 72 *1np (instead of 1P *10p).
4 x,m.
> The proposed (and ultimately refuted) answer here is that the 73wn is not teaching us the laws of mara (since in our
71wn we do not carry out the ant wR2), but rather the 71wn teaches us the process of 7nri; what the witnesses say,
and what the 1»*1n7 0°7Y say (even though this is not mentioned in the 71wn [see ‘Thinking it over’]). Therefore we
can circumvent the issue that ont WK is not carried out in our 73Wn, since this is not the intent of the mwn.
% Qur mwn is not discussing the 7n11 W for this is taught in the following 73wn on X,7. We must therefore conclude
that our 71wn is teaching the 17 of 77%77; however this is not so (for we do not implement the an7 WX in our 7Iwn).
We return therefore to our original question that the 712w should have said 1nn1r WY1 0797 PR 7302,
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SUMMARY

The question 7% can mean either why ask 121 0v7v77 7%°2, when there is a 71wn later
which explains it (°*"w79), or you cannot answer (the first question) that our 71wn
means 111 WY, for that is the purpose of the next m1wn, therefore the first question
remains (stronger).

THINKING IT OVER

Moo explains that the ¥ comes to refute a possible answer to the first question;
that the mwn (only) wants to teach us 717 179 [the process of nnri], but not 7
i’ However how can we even entertain such an explanation where there is no
mention in the 71wn at all regarding the statement of the o> 0>7v (the second set
of 0>7v), who are 0’ the first set? We do not need the second 71wn to refute this
proposed answer when it is self-refuted!

7 See footnote # 5.
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